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THM 348 Service Operations Management
Midterm Exam Answer Sheet
1. Explain the second Foundational premise (FP2) of service-dominant logic stating that “Indirect exchange masks the fundamental basis of exchange”. (2 Points)
The second fundamental premise of service-dominant logic tells us that goods, money and institutions mask the service-for-service nature of exchange. Putting it other words, the process of value creation in a post-industrial society is complex and has many intermediary systems (ex. Internet) that facilitate the process of exchange.
2. What is “servitization”? Could you provide one example illustrating this? (2 Points)
Servitization is a revenue enhancement technique that occur by bundling / mixing service with sale of a product. An example to that could be offering financing services for those who would like to buy a car / house.
3. What is the Triple Bottom Line (TBL) approach? What are the emerging opportunities caused by this very approach? (2 Points)
Triple bottom line approach is a way of evaluating firms on social, economic, and environmental sets of criteria. This very approach open doors for making positive contributions to society and for building goodwill.
4. Provide an example highlighting how customers can be empowered by IT. (2 Points)
The internet, which links people all over the world can empower customers. For example, a person with a medical question can search the internet for answers. Moreover, a person can shop around the world. In addition, a customer can enter to a cargo company’s webpage to track his / her package. Lastly, one can make his / her own reservation, buy a ticket and even check online.
5. Contrast “Technology-assisted service encounter” to “Technology-facilitated service encounter”. Provide one example for each. (2 Points)
While “Technology-assisted service” encounter refers to an encounter where a service provider, having access to technology, to facilitate the delivery of face-to-face service, “Technology-facilitated service” encounter refers to an encounter where the service provider and the customer have the same technology.

An example to “Technology-assisted service” encounter would be eye exam during the visit to an optometrist or a full mouth x-ray at the dentist. Moreover, an example of “Technology-facilitated service” encounter would be a financial planner in consultation with a customer referring to a financial model on a personal computer to illustrate projected returns for different risk profiles.

6. Explain Market Research Gap (GAP 1) in service quality? Provide an example clarifying this very gap. (2 Points)

The market research gap (GAP 1) is the discrepancy between customer expectations and management perceptions of these very expectations. An example would be a guest expecting the service / product to have safer features where management perceive this expectation differently (ex. Try to design a product / service emphasizing convenience / price attributes rather than expected safety enhancements).
Good Luck

PAGE  
1

